
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

.𝑠𝑥 = 𝑢𝑥𝑡 +
1

2
𝑎𝑥𝑡2 

or, 𝑥 = 𝑢𝑐𝑜𝑠𝜃𝑡 + 0 [∴ 𝑎𝑥 = 0] 

-∴ 𝑡 =
𝑥

𝑢𝑐𝑜𝑠𝜃
… … … … … (1) 

At 'y' direction 

.𝑠𝑦 = 𝑢𝑦𝑡 +
1

2
𝑎𝑦𝑡2 

or, 𝑦 = 𝑢𝑠𝑖𝑛𝜃𝑡 −
1

2
𝑔𝑡2 [∴ 𝑎𝑦 = −𝑔]  

or, 𝑦 = 𝑥𝑡𝑎𝑛𝜃 −
1

2
𝑔

𝑥2

𝑢2𝑐𝑜𝑠2𝜃
………….(2)  [using equation 1 and solve] 

Now, equation 2 is the equation of parabola. So, Path followed by 

projectile is parabolic in nature. 

 

2)Time of flight:It is the time when projectile remains in the air. 

Using equation of motion, 𝑠 = 𝑢𝑡 +
1

2
𝑎𝑡2 

At y direction 𝑠𝑦 = 𝑢𝑦𝑇 +
1

2
𝑎 𝑦𝑇2 

or,𝐻 =
1

2
𝑔𝑇2 

.∴ 𝑇 = √
2𝐻

𝑔
 

 

3) Horizontal Range: Horizontal distance covered by projectile during 

its time of flight is called Range.  

.𝑠𝑥 = 𝑢𝑥𝑡 +
1

2
𝑎𝑥𝑡2 

or, 𝑅 = 𝑢𝑇 + 0 

 ∴ 𝑅 = 𝑢 × √
2𝐻

𝑔
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